Name:

Math Morning Work Week 5

Monday

Mon. Workspace

Tuesday

Tues. Workspace

11 What is the place
value of the
underlined digit?
A. 4,385

B. 72,389

What is the value of the
underlined digit?

A. 21,221

B. 2,862,359

2 | Estimate the Sum.

12,729 + 89,898 =

Estimate the Difference.

7,453 - 1,877 =

3 | Round 231,852 to the
nearest thousand.

The top of Stone Mountain in
Georgia is 1,683 feet above
sea level. The top of
Sassafras Mountain in South
Carolina is 5,360 feet. Which
statement about the value of
the digit 3 in 5,360 is true?

A. It is ten times the value of
3in 1,683.

B. It is one hundred times
the value of 3 in 1,683.

4 | Kyle and Andrea
were asked to make a
list of prime
numbers.

Kyle: 1,3,7,19, 23
Andrea: 2,3,5,7, 11

Who is correct?

A. only Kyle

B. only Andrea

C. Both lists are correct

D. Neither list is correct

Round 2,459 to the
nearest hundred.

5 | An artist is arranging tiles
in a row to decorate a
wall. Each new row has 2
fewer tiles than the row
before it. If the first row
has 23 tiles, how many
tiles will be in the seventh
row?

About 400,000 people
attended a concert.
Which number could be
the exact number of
people that attended the
concert?

A. 489,001
B. 339,500
C. 452,348
D. 351,213

Explain where the student made his EIRST mistake.

6 | The steps a student used to subtract 684 from 3,257 are shown.

Step 1. He subtracted 4 ones from 7 ones to get 3 ones.

Step 2. He subtracted 5 tens from 8 tens to get 3 tens.

Step 3. He subtracted 6 hundreds from 12 hundreds to get 6 hundreds.
Step 4. He subtracted 0 thousands from 2 thousands to get 2 thousands.




Wednesday

Wed. Workspace

Thursday

Thurs. Workspace

Write this number in base
ten numerals.

A. 80,000 + 500 + 60 + 7
B. four hundred five

thousand seven hundred
thirteen

Write 31,746 in expanded

form.

Compare the numbers
using <, =, or >,

A. 4,300 3,400

About 800,000 people attended a concert. Select which
numbers could be the exact number of people that attended

the concert?

a. 736,059 b. 849,803
B. 256 — 873 c. 851,641 d.786,543
Which number has 5 as Compare using <, =, or >,
one of its factors? A. 14
B. 15 A. 2,145,689 2,145,698
C.16
D.18 B. 20,123 21,230
Classify the triangle | A. right Solve.
shown.
B. acute 6,459 + 2,549
C. equilateral
D. obtuse
100 ’
dollar. Which shows | B. $0.07 for 1 hqur 45 mln}ltes
the amount of money and arrived at their
Beth has? C. $0.70 camping spot at 3:15
' D. $7.00 PM. At what time did

the Cain family start
driving?

There are 96 fourth graders at Small Tree Intermediate School. 43 of them are girls. On Friday, 5 fourth
grade girls and 4 fourth grade boys were absent. How many fourth grade boys were at Small Tree
Intermediate School on Friday? Explain your thinking.




